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import statsmodels.api as sm
= sm.datasets.get_rdataset('iris', 'datasets').data

iris
iris
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https://en.wikipedia.org/wiki/lris_flower_data_set
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from sklearn.model_selection import train_test_split

X = iris.iloc[:, :4]
y = iris['Species']

X_train, X_test, y _train, y_test = train_test_split(X, y, test_size=1 / 3)

from sklearn.svm import SVC from sklearn.ensemble import RandomForestClassifier
clf = SVC() clf = RandomForestClassifier()
clf.fit(X_train, y_train) clf.fit(X_train, y_train)

clf.predict(X_test) clf.predict(X_test)
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from sklearn.manifold import TSNE

X_tsne = TSNE(n_components=2).fit _transform(X)

PCA (ERID M) ZESTcPD A
from sklearn.decomposition import PCA

X_pca = PCA(n_components=2).fit_transform(X)
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import plotly.express as
import pandas as pd

tsne_df = pd.DataFrame(X_tsne, columns=['X"', 'Y']) Da_taFrame%'ﬂE%
pX.scatter(tsne_df, x='X"', y='Y', color=y)

setosa
® versicolor
virginica

=2 7 [Lpip install plotly D 3b & > T )L DY Sjupyter labextension install jupyterlab-plotly
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plot_model(kmeans,

exp_name = setup(data=iris, ignore_features=['Species'])
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from pycaret.clustering import kmeans create_model( 'kmeans')

'elbow')

Distortion Score Elbow for KMeans Clustering
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from sklearn.preprocessing import StandardScaler

ss = StandardScaler() )
std X = ss.fit transform(iris.iloc[:, :4]) Mmoo
std_X

A Epandas® DataFrame

array([[-9.00681170e-01, 1.01900435e+00, -1.34022653e+00,
—-1.31544430e+00] ,
[-1.14301691e+00, -1.31979479e-01, -1.34022653e+0@0,
-1.31544430e+00] ,
[-1.38535265e+00, 3.28414053e-01, -1.39706395e+00, Il:l:ll j] ﬁQNumPy@array
-1.31544430e+00] ,
[-1.50652052e+00, 9.82172869e-02, -1.28338910e+00,
-1.31544430e+00] ,

Il 1 AHN10A0NRAA NN 1 DN A0DNATT1DA AN 1 DAMAINNLED AN

ss.feature _names 1n_

array(['Sepal.Length', 'Sepal.width', 'Petal.Length', 'Petal.wWidth'l],
dtype=object)



pipelineH® MEF|

from sklearn.pipeline import make_pipeline

my pl = make_pipeline(StandardScaler(), SVC())
my_pl.fit(X_train, y_train)

Pipeline(steps=[('standardscaler', StandardScaler()), ('svc', SVC())])
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my pl.predict(X_test)

from sklearn import set_config

set_config(display="diagram")
my_pl

Pipeline §

StandardScaIer
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def my_div(a, b):

return a b

assert my_div(10, 4) 2
assert my_div(a=10, b=4) 2
assert my_div(b=4, a=10) 2
assert my_div(10, b=4) 2

my_div(a=10, 4)

File , Line
my_div(a=10, 4)

A

SyntaxError: positional argument follows keyword argument
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def (a, b, /):
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assert my_div(10, 4) 2
assert my_div(a=10, b=4)
assert my_div(b=4, a=10)
assert my_div(10, b=4) 2
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def (a, *, b):
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return a b

assert my_div(10, 4) 2

assert my_div(a=10, b=4) éJ |
assert my_div(b=4, a=10) 2 FD3D[IOK |

assert my_div(10, b=4) 2 ald & > BETE LW
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sklearn.ensemble.RandomForastClassifier

class sklearn.ensemble.RandomForestClassifier(n_estimators=100, *, criterion="gini', max_depth=None, min_samples_split=2,
min_samples_leaf=1, min_weight_fraction_leaf=0.0, max_features="auto’', max_leaf_nodes=None, min_impurity_decrease=0.0,
bootstrap=True, oob_score=False, n_jobs=None, random_state=None, verbose=0, warm_start=False, class_weight=None,
ccp_alpha=0.0, max_samples=None) [source]

my forest RandomForestClassifier(100, criterion="gini')

my_forest = RandomForestClassifier(100, 'gini')

TypeError Traceback (most recent call last)
in <module>
my_forest = RandomForestClassifier(100
TypeError: __init__ () takes from 1 to 2 positional arguments but 3 were given

https://scikit-learn.org/stable/modules/generated/sklearn.ensemble.RandomForestClassifier.html?highlight=random%20forest#sklearn.ensemble.RandomForestClassifier
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from sklearn.ensemble import RandomForestClassifier

my_forest = RandomForestClassifier(100, 'gini')

/Library/Frameworks/Python. framework/Versions/3.9/lib/python3.9/site-packages/sklearn/utils/validati
on.py:70: FutureWarning: Pass criterion=gini as keyword args. From version 1.0 (renaming of ©.25) pa

ssing these as positional arguments will result in an error
warnings.warn(f"Pass {args_msg} as keyword args. From version "

FutureWarning

(WXIEZEFUTHITBITE. 025 DIONS T —ICRBINET[EMITTHR)
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